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1,000m*/ H 6 s EHEDOREA

EES | REAY | BhnAy | EEmE | awE | R2EDH | FEEH
1AL
[kw] &1 [&] [h] [-1 [kw] [kWh/ B]
REEARST 0.015 2 1 24 0.7 0.03 0.25
wman EELA | REAHK | EBEmAN | EEEE | AaFE | BEDN | #EEH
Tkw] &l [&] [h] [-1 [kw] [kWh/ B]
E—52— 0.5 2 2 12 1.0 0.9 12.00
KRB IZHANDER 0.25 kWh/H x 365 B/ x 30 F/kWh
= 2,759 F/&E
EEEHR = 12.00 kWh/H X 180 H/& x 30 M/kWh
= 64,800 A/
&Et 2,759 A/&E+ 64,800 /4
= 67,559 A/4&
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1,000m*/ H DA EREHEORE (1)

g KA | BB EIAl | BEmER | anE | REDH | FREH
[kwl & [&] [h] -] [kw] [kwh/H]
SIRBIE 2.2 6 6 24 0.7 11.9 221.76
EaiER T 3.7 4 3 24 0.7 6.8 186.48
[Eai@#kR T 0.75 1 1 6 0.7 0.7 3.15
2 S A 1.50 2 1 4 0.7 2.7 4.20
BIREIEEART 0.015 2 1 24 0.7 0.03 0.25
BREEIARSS 0.015 2 1 24 0.7 0.03 0.25
PACSE AR T 0.015 2 1 24 0.7 0.03 0.25
YTV TR T 0.40 3 3 24 0.7 1.1 20.16
Z Dfih (£AD10%) 43.65
it 480.16
BE(mEAA) 480
. EREH | REAH | Emey | BmEN | AR | ®EDH | #RES
[kw] [&] &l [h] [-1 [kw] kWh/H]1
E—5— 0.5 5 5 12 1.0 2.3 30.00
HKNEBIZHANDE F = 480 kWh/H x 365 H/E x 20 F3/kWh
= 3,504,000 M/
BEEER = 30.00 kWh/H x 180 B/ x 20 F3/kWh
= 108,000 /4
&it = 3,504,000 H/&E+ 108,000 A/

3,612,000 /4
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